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F L L Lare in A.P. then :-

b+c ' c+a 'a+b
(1) a,b,carein A.P. (2) @, b% c®are in A.P.
3) i , % : %are in AP.  (4) None of these
If the nth term of an A.P. be (2n — 1), then the sum of its
first n term will be :-
(1) n"-1 (2 @n1)* @)n @n’+1
If the pth term of an A.P. be é and qth term be é then the
sum of pgth terms will be :-

WE= @  X= o=

If the sum of nth term of the A.P. is 2n? + 5n, then the nth
term will be :-

(1)4n+3 (2)4n+5 (3)4n+6 (4)4n+7

If the 9" term of A.P. be zero, then the ratio of its 29" and
19" terms is :-

@1:2 22:1 31:3 @#)3:1

If S, denotes the sum of n terms of an A.P., then the value
of (S,,— Sy) is equal to :-

(1)2S, @3S:m @);Sm (@3S

Ifa, b, c, d, e, fare in A.P. than (a — c) equal to :-

(1)d-c  (2)2(d-c) (3)2(c—a) (4)c—b

An A.P. has common difference 2, sum of first'n terms 49
and 7" term 13. The value of n is équal to :-

1) 5 (2) 6 3)7 4)8

If the sum of three numbers'in AP. is 27 and the product

of first and last term is 77, then the numbers are :-
12,2, 22 (2)6,9, 12
(3) 7,10, 11 4)7,9,11

If the three positive numbers a, b, ¢ are in A.P. and R

aZ ' p2’
Clzalso in A.P., then:=

(1)a=b=c (2)2b=3a+c

(3)b2=§ (4)2c=2b+a

I1f7A7; Az are two A.M.’s between two positive numbers a
and b, then (2A- A;) (2A; — Ay) is equal to :-

Ma+b (ab @)= @

In A.P. Ratios of sum of m and n terms is m? : n? then
ratios of m™ & n'" terms is :-

(1) 2m+1) : (2n+1) (2)m:n

(3) (2m—1):(2n—1) (4) None of these
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b+c c+a " a+b
(1) a,b,carein A.P. (2) @, b% ¢* areiin A.P.
3) é : % , % are in A.P.  (4) None ofthese
afe 9 & & ndf gg (2n & 1) 8 &I 9UH n UG BT
ANTHS BT |
@ nf-1 (2@’ @ (@)n’+1
afe 4. 91 &1 p 9f 9'q df 98 HE é a%,?raﬁpqzﬁ
Y&l BT INTHel eI~

-1 N +1 -pq—1
W58 O5F @5 95—

Ife . b n g& 1 ANThS 2n? + 5n B, 99 ndl U
BRI =

(1)4n+3-(2)4n+5  (3)4n+6 (4)4n+7
I | 9. P19 df U I ©, 79 29 df g 19 df UAT Bl
JUT BIT |

@W1i:2 @2:1 3)1:3 (#3:1

afe A, 9. & n UGl FH ARTHA S, B a5 (Spn — Sp) BT AM
RIER BT —

W28 (3Sn  (B);8n @3S

afd a,b,c,d, e, fA &9 # 8 d9 (a—C) WK B -
Wd-c @2@d-c) 3)2(c-a) (4)c-b

TP A, 4. BT A AJU 2, UH N Y& BT ART 49 7T
7 df U 13 B | T N BT A9 SRER BN —

15 (2) 6 @7 (4)8

afe | A o = ARl &1 AT 27 iR wem g sifam
U B UG 77 ©, 99 AN B —

W32, 22 (2) 6,9, 12

(3)7,10,11 (4)7,9,11
Uﬁﬁﬂaﬂwmﬁa,b,ca%ﬁama%,b%,é
W HE g

Da=b=c (2)2b=3a+c

(3)b2=§ (4)2c=2b+a

T ad b & FT S FHR AT A, 9 Ay &, 99 (2A;-
A)) (2A; — A;) SRR EFTT —

(L)a+b (2)ab (3)% @32

I A A B man UGSl Ib B ARTHSA BT U m°
n°?, d9 md qT nd UGl &T U ¥ —

(1) 2m+1) : (2n+1) (2)m:n

() 2m-1):(2n—1) (4) None of these
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Ifi , % , %are in A.P., then b+:_a , C+E_b , aHC’_C is :- 13. afy i%% a9 Hgde b+:_a : H‘;_b , a+f_c 2 -
(1) AP (2)GP (3) HP (4) None of these 1) AP (2 GP (3) HP (4) None of these
If m AM’s between two numbers 1 & 31, such that Ratios 14, 1 9 31 & T8 m 9HER A 39 YbR © fob 79 iR
of 7" & (m — 1)th means is 5:9, then value of m = ........... (m—1) J ¥l & U 59 8 d9 M BT AN B —
112 (213 (3) 14 (4) 15 112 (213 (3) 14 (4)15
Sum of first n tezrms of se3r|es 15. =M log, a + log, %2 4 logeZ—z S F\UF N UGl
log, a +log, >t log, PPN Is. &1 ATHS & —
W5 L) loga] - (2); [ (D) log, a- (n = 1) log, b (1) [(+1)loga]  (2) 5 [ (n+1) log, a=(n 1) log, b
(3)7(n-1)log. b (4) None of these (3)5(n—1)log, b (4) Noneof these
If a5, @z, a3, coveveie ap, are in A.P., then value of 16. AT Ay, Ay, gy cvvereens 9. 3 WE 9
8y — 8" + 8" —a + e + &g — @ 18- A= 22+ A= A2 F e A + %pnp— 8oy BT T & —
n 2 2 n 2 2 n n
W@ - @z g6 - (1) 5 @ ) @) (@ —a%)
n 2 2
3) p— (ay” + a%y) (4) None of these 3) 2nn_1 (@2 +a%) (4) None of these
Sum of 24 terms of series V2 + V8 + /18 + ........... is i 17. SRAZ + VBt VIB+ 0. & 24 TS BT ATHS D -
(1) 300  (2)300v/2 (3)200v2  (4) None of these (1) 300 (2) 300v2 (3)200v2  (4) None of these
If log2, log (2" — 1) and log (2" + 3) are in A.P. then 18. f2 log2, Yog (2"~ 1) iR log (2" + 3) . & ¥ 2 &9
value of n is:- :
W2 @log,5 @)logs5 @42 N j - 3
2 A 2 M3 @log,5 (3logs5 (@)
If AMofa & bis ——— = then value of n is :- 197 af ad b Wan?::ZZ—l 2 99 NPT A
ffli,'lt t(2) b (53) 1 Je - 3(‘;) '\:Ene Oflthese @-1 @0 @1 (4) None of these
"? I LEMM SUM'IS 50 8N0 520 = 3.5n, then value 20. If< |. &1 @& YH n YRl &1 ANT S, TAT Sy = 3.5,
Of i |S = S3n )
Sn SR g 2 -
(1) 4 (2)6 (3)8 (4).10 (1) 4 2)6 (3)8 (4) 10
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